L
. . %
= e i G, )
[

k] Yosfa{®] Pf-lo8 08 c000]
. The reackion st A (horiaontsl) is obtsinedl frow He

o E'-ﬂ_x 0+Kp 8 +0kKybto...= Rf =t

€0c0 = T _v(Tatw)

G 2 =
Eay=0 = .E'tEL. o -%-(_Tﬂ 9 Tﬁ)




{G:._: V( ¢u+q-ﬂ? -

L |Gy =Y (Sa 0

- G, +%% = 2V0;; + 1-*(‘5111:'3;@ : ﬂ-h-ﬁ'}}_E_V_@:&-:_@).

0+ = _2Y S
1-V

[ E€n_ ES G-y e _ T 4V-2V°

L =Y £ () .

V__ES
Oohy(1-v)

-

) o

m Ha s ol Yhe Tofal lonol: |

. 2.A ap)(-w) -
B VES 1 samgll




() (EI %")u + (N Wi" -0 O0<x< L

HUH"IYI b\/ suitable viclval deﬂccﬁon {;ebd W
and integate between ©" wnd YL/,

J*L ET Wi S0 ol + [l b - E?gm

InJregrd‘e bl/ {J&r"‘s
JL[(I::E@ Swq dlx -.jL(EI wo")l dw, dx +IL(Nw§, quldx
0 M o 0

—JLN Swo Wp dx = O

ET ) S
M

¢ N el -J" N W, Swe dx = O

0

“-[ M Suq) dlx H[“Mbutde 4

M §wo LL + Nw SWa!L- MSWJ}L +LLM Sw' dx—

'—-JL N w, SWJ dx =0

0



@

The PVD rﬁ'&d.c.»:
JL M Sw, dx = LLN%' MW Ox  O<x <L

¥ Swo st Sup, bu sshisty Hhe
howmogeneaus essattisl
bmd’e{\/ conclilons
The nstursl Bomdmy conibiovis >re nat eybraso! éy
e Princ.ip[e



@ AHE‘?}(" Asz}‘, Fz.
<P

o Y

P

ibtiom reechon st built-in endl is "o
Qgsylmqe normnal force in the left e wbec.
The ez&(‘ad' sokr‘hon is:
J,=0 Y _—._E_.__
AZ

‘:‘-ﬂi{"e e!EWhBUd' SDL)'}T.OVI:
A ® @ P Ke_ ACE® (1 -1
A0, ]

= (-1 1
(0 ,
O, =< P
0y ) [-P

T T e

K
{&1014- Kia Ug, = P
Kg}_ Uz ¥ K‘.’é Ug, ::""P

Kn: Kg + K? — A!LEI = A;LEZ
I : 3




‘go[ Uiﬂg Sys'l'em 2

(Kn'i‘l{sz)uz 4—003_-, O ﬂim

EI@WIEM{'('D Ul®= Ut‘:’of (5?_:.02:0

u@=¢,0+¢10 o
L, TP.0

| Element @ s 9,6 LP_. 03_—P%
@ ¢O+¢(PLL>J¢L=-}_ 5 A,
L,







&

O (@) The Yrnode plone streln elewrent ehown is sukjecteol

o 'H'LE' Cons'f"awl' streeses - b
G;, = loo MPy Cws net ’ [ 2
G = loo M, Shbwn) '62- |
(owpite the Clisplecomet st A o

810 — Ty V(Y N'u)-_ﬂo My

_ 1 - 143 10°
® - % [GT' v(q;,ﬁq‘@] “200 10

M u-_: X Eu '[" X?.zgu_

26,= S _ loold 2(1+03)_
G ZDOG?Q 2-!03

M('},q = 3 Qi[ = .3" lqs____.. ‘M = O.QIW
200 I0*




S

= 1 -2
§ %( )
d =
= >

L
PYD Lmd Seyolv = Fou)

specisteing o D: f“‘ﬂ“‘ Sedx = F (D)

J &/ L”_ 7 \g:{Sde =);/S‘A(L>

3 '?.3L)

@ S X (sdmissible, sohisties howo. esedtid

L B. (. Su(a\ D)
CE =8
L
PVD '-(4 g__(7?.+24 x)&dx:?};(fl
A 4.\ 73 L/ L
72 V72 4, 240 29 4 24
B 4 7327 732 4,73 3




g
7 72 24 (1 _ 4\ = 1
§ 73 4'75 2 q

(_g__l_s 24 _=7 1

g 73 ;

g3+ 24 £ 1 /

}J( 7B

@ Su - x/A3 , €< 3axXy[3

iL(d -L)(Zz__.,.ﬂﬁ 961 d)(-_z_ }2(']:-1
g\ 75 " Ly 3 3

224 4724 w0 AL

733 4734 73 Y 47385 3

72 (_1__4_>4__?~5_(_"_.__4)_?. 1

W . 3 |6 7S 4 20 g






